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3. C++
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3. C++

3.1
1.
e2 |/ 1/2
2 ( )
14 ( )
106[eV] (
2 14.41evV 1 ( )
2 [ ]
d d
R
2.
I f(p)dP(p)+f f(r)dP(r)
/ p exp —
[ ]
p  0.078] ]
p Si
3.
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3.2

C++

#include<iostream.h>

#include<math.h>

int main()

{

double d,x,y,p,x1,y1;

cout<<" "<<endl;
cout<<"R=2(Z1*7Z2*en2*d/E)"1/2"<<end],

cout<<" d "<<endl;
cout<<"d=?",

cin>>d;

x=((2*14*14.4*d)/pow(10,6));
y=2*pow(X,0.5);

cout<<" <<y<<" "<<endl;

cout<<" "<<endl;

cout<<"l = 1+{1+R"2/(2?72)}*exp{-R"2/(2?"2)}"<<endlI;
cout<<" R p "<<endl;
cout<<"?=?",

cin>>p;

x1=-pow(y,2)/(2*pow(p,2));
y1=1+(1+(pow(y,2)/2*pow(p,2)))*pow(2.718,x1);

cout<<" | = "<<yl<<" "<<endl;

return O;
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pow <math.h>
main
double d,x,y,p,x1,yl cout
cin d
X e? ()]
1)
y = ez |/ 1/2 (2)
(2) x
cout cin p
x1=— p 3)
(3)
yl = /I p exp — [ P (4)
4) x1
4.1 He Si
2.10
He Si
1.
<100>,<110>,<111> d

543 ,3.84 ,1.36

(a) <100>
d=5.43
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R =0.093

(b) <110>
d=3.84
R =0.078

€ <111>
1.36

R =0.046

(a) <100>
I =1.493

(b)<110>
= 1.606

(c)<111>
= 1.840

4.2

4.1

0.078

He

Si

d[

]

[ ]

0.02§ 1.938
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1 0.04 1.877
1.358 0.046 1.841
15 0.049 1.821
2 0.056 1.773
2.5 0.063 1.722
3 0.069 1.676
3.5 0.075 1.629
3.84 0.078 1.607
4 0.08 1.591
4.5 0.085 1.552
5 0.089 1521
5.43 0.093 1.491
5.5 0.094 1.484
6 0.098 1.454
6.5 0.102 1.425
7 0.106 1.397
7.5 0.109 1.369
8 0.113 1.351
8.5 0.117 1.325
9 0.12 1.306
95 0.123 1.282
10 0.126 1.266
10.5 0.13 1.249
11 0.133 1.233
11.5 0.136 1.218
12 0.139 1.204
12.5 0.141 1.191
13 0.144 1.177
13.5 0.147 1.165
14 0.15 1.157
14.5 0.152 1.146
15 0.155 1.138
15.5 0.158 1.128
16 0.16 1.118
16.5 0.163 1112
17 0.165 1.104
17.5 0.168 1.098
18 0.17 1.093
18.5 0.173 1.085
19 0.179 1.081
19.5 0.177 1.076
20 0.179 1.072
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